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1) TRADE THEORY

Question No. 1 / Question ID 321 Marks: 2.00

Which process does a comprehensive examination and restoration of a system?
oI It uferar faf goreht ! sarde Sife 3R ARATIAT Sl 87
(A) O Overhauling (Correct Alternative) (Chosen Option)
I (Correct Alternative) (Chosen Option)

(B) O Testing

afReon
(C) O Repair

HIHd
(D) O Reasserts

g g

Question No. 2 / Question ID 183 Marks: 2.00
Which operation enlarges the hole for a given depth?
DI I IR T & 715 TERTS & 17U BIdd DI I ST BT 672
(A) O Counter sinking
D3R iTh
6 m T Global iTi
3fHT
(C) O Counter boring (Correct Alternative) (Chosen Option)
FT3ex TN (Correct Alternative) (Chosen Option)
(D) O Spot facing
ic BRI

Question No. 3 / Question ID 123 Marks: 2.00
Which shearing machine is advantageous for single or continuous cutting action?

DI I R a2 ted a1 ARaR B &) fpar & forw wracHe 82
(A) O Bench shear
9 AR

(B) O Guillotine shears (Correct Alternative)
freaifes RraR (Correct Alternative)
(C) O Squaring shear (Chosen Option)
(Chosen Option)
(D) O Hand lever shear
'S TilaR

Question No. 4 / Question ID 215 Marks: 2.00
What is the advantage of mass production?
IS THM W TG o1 BIael o1 872
(A) O Jig and fixtures
foRT iR




(B) O Gauges are used
ST &1 TANT faba T §

(C) O Initial expendlture is high (Chosen Option)
3T W 3HfYF § (Chosen Option)

(D) O Spare parts can be quickly made available (Correct Alternative)
TfieraT ¥ SUARI HRIT ST JPhd 8§ (Correct Alternative)

Question No. 5/ Question ID 139
Which tool is used to form the final shape of the rivet head?

RYac g5 o1 3ifaH SR s & foIT fhy IS BT IUANT T Sren 872

(A) O Rivet set (Chosen Option)
de Te (Chosen Option)

(B) O Dolly
Srail

(C) O Rivet snap (Correct Alternative)
| (Correct Alternative)
(D) O Drift

Marks: 2.00

Question No. 6 / Question ID 114

Why acid tanks are made of lead sheets?

RIS ¢ dire e ¥ 1 §1T 91d 67

A) O To protect agalnst oxidation (Chosen Option)

EEEIRED %E Chosen Option)

(B) O Highly resistant to abrasion
YU o Ufel Srcafeies TfeRielt

(C) O To protect against corrosive (Correct Alternative)
T&RP | 9911 & T (Correct Alternative)

(D) O To avoid leakage

=M & forg

Marks: 2.00

Global iTi

Question No. 7 / Question ID 248
What is the name of the part marked as ‘X’ shown in the figure?

o # fezame e @ fafgd Wi &1 9m | 82

Marks: 2.00




Global iTi

(A) O Datum line
KSR
(B) O Vernier division (Correct Alternative) (Chosen Option)
fedio (Correct Alternative) (Chosen Option)
(C) O Thimble
RIS

(D) O Barrel

Question No. 8 / Question ID 278 Marks: 2.00
Which angle of the tool prevents while parting from getting jammed in the groove and causes breakage?
A BT DI I HI U DI Jd H B J Adhdl § 3R g BT HRUT G901 82
(A) O Side clearance angle (Chosen Option)

BIES] FATRT PIT (Chosen Option)
(B) O Side relief angle (Correct Alternative)
15 fYEIw BT (Correct Alternative)
(C) O Front clearance angle
The FAINY DIl
(D) O Side rake angle
1SS Y B0

Question No. 9/ Question ID 76 Marks: 2.00




What type of operation is carried out in a gang drilling machine?
i1 fefer == & g R &7 SHToRe fosar s 32
(A) O Continuous milling operation (Chosen Option)
IBEGRAGINUREISEE] (Chosen Option)
(B) O Idle operation
BEINE
(O¥Q) Repeated operatlon of drilling
T IR-IR AT
D) O Successwe operation of drilling (Correct Alternative)
fgﬁ‘i‘T P1 HHP GaTad (Correct Alternative)

Question No. 10 / Question ID 4 Marks: 2.00
What is the name of the part marked as “X” shown in the figure?

o 7 femame mw «x @ fafgd Wit &1 AW | e

Global iTi

(A) O Ferrule

(B) O Filelength
WIgd B AdTs

(C) O Heel (Chosen Option)
Bid (Chosen Option)

(D) O Tang (Correct Alternative)
& (Correct Alternative)




Question No. 11 / Question ID 16 Marks: 2.00
Which vice is used to hold hollow cylindrical jobs?
TR SAIBR Sid Dl Uhe & o foog argy o1 Sua fasan Sirdn 82
(A) O Pipe vice (Correct Alternative)
UTgU digy (Correct Alternative)
(B) O Bench vice
CEEIES
(C) O Hand vice (Chosen Option)
%TJC%' digy (Chosen Option)
(D) O Pinvice
O oz

Question No. 12 / Question ID 271 Marks: 2.00
Calculate spindle speed for a turning dia 40 mm cast iron rod, if the cutting speed is 15 m/min.

40 fir} oo/ 9T = AR P B & foY fAisd T & AT B, Tfe Hid Tl 15 Hex/fome gl

(A) O 119.4 rpm (Correct Alternative)
119.4 rpm (Correct Alternative)
(B) O 109.4 rpm
109.4 rpm
(C) O 100.3 rpm (Chosen Option)
100.3 rpm (Chosen Option)
(D) O 219.3 rpm
219.3 rpm

Question No. 13 / Question ID 46 Mﬁlﬁﬁ ==
What is the use of try square shown in the figure? al ITI
fort & faaTE 77U ¢S WhTR &1 a1 SUINT 57




(A) O To check the squareness (Correct Alternative) (Chosen Option)
P ST BT (Correct Alternative) (Chosen Option)

(B) O To mark lines at 90°
@3 BT 90° W Sifdrd AT
(C) O To set the workpiece at right angle

JHUN B! JH I TR e B P T

(D) O To check the flatness
JHAAAT P ST HRAT

Question No. 14 / Question ID 189 Marks: 2.00
What is the name of the die shown in the figure?

fort  feaTy 10 ST &7 11 &1 872

Global iTi




(A) O Solid die
qifers S1%
(B) O Half die (Correct Alternative)
elth STE{' (Correct Alternative)
(C) O Adjustable screw plate die (Chosen Option)
QS\:NE@IG h @Ie SI':‘: (Chosen Option)
(D) O Split die
BSESH

Question No. 15/ Question ID 283
What is the maximum swivelling angle of the compound rest in the lathe machine?

TRIG AR & HHES Re &1 Hdmad Raafee T @ra w1 82
(A) O 180° (Chosen Option)
180° (Chosen Option)
(B) O 220°
220°
(C) O 90°
90°
(D) O 360° (Correct Alternative)
360° (Correct Alternative)

Marks: 2.00

Question No. 16 / Question ID 235
Which steel is used for making cold chisels?
PIcs diord S & g [ W &1 SUTNT faa SiTeT 872
(A) O Mild steel (Chosen Option)
gl Wid (Chosen Option)
(B) O Medium carbon steel
T HTe WA
(C) O Dead mild steel
$S AIstE Wid
(D) O High carbon steel (Correct Alternative)
I Pl K d (Correct Alternative)

Marks: 2.00

Global iTi

Question No. 17 / Question ID 103
What is the name of the supporting tool shown in the figure?

o  fawTu TN YT SUSRUN BT A1H T 572

Marks: 2.00




(A) O Half moon stake (Correct Alternative)
el {1 D (Correct Alternative)
(B) O Round bottom stake

A3E dicy L
(C) O Hatchet stake (Chosen Option)
%ﬁl’c’ TP (Chosen Option)

(D) O Funnel stake
B Kb

Global iTi

Question No. 18 / Question ID 60

Why are ribs provided in the angle plate?

T wie & Reg 31 & o1t 872

(A) O Provides flatness (Chosen Option)
JHIAAT Y& &l § (Chosen Option)

(B) O Provides squareness
AHRAT UG Rl §

(C) O Supports the machined surface
mRiied Tdg &1 quIé SR |

(D) O Prevents distortion (Correct Alternative)

o=y &t AFar % (Correct Alternative)

Marks: 2.00

Question No. 19 / Question ID 226
Which term refers to the relationship that exists between two mating parts?

3 AT YTt & s § Hdy & T Tged es T 872

Marks: 2.00




(A) O Limit
fetfere
(B) O Allowance
AT
(C) O Tolerance (Chosen Option)
TRd (Chosen Option)
(D) O Fit (Correct Alternative)
fire (Correct Alternative)

Question No. 20 / Question ID 315 Marks: 2.00
What is the use of maintenance records analysis?
TERETa Repls fa=eyur &7 1 IuANT 82
(A) O To setuptime
g feffed s & forg
(B) O To monitor tool life
oo T8 TR ToR 3@ o for
(C) O For operator efficiency (Chosen Option)
3IRER &1 G&dl & T (Chosen Option)

(D) O To minimise the frequent break downs (Correct Alternative)

TR-R 81 T 98P SIS Bl FH P & f%‘l'l'{ (Correct Alternative)

Question No. 21 / Question ID 58 Marks: 2.00
Which metal cutting saw is used to cut large cross section area?

g Ded of&T If &1 ST g9 H19 VoA &3 &) Hlc & forg faar Sirdr 82

(A) Horizontal band saw (Chosen Option) i T
© mﬁa?ﬁ(Chosen Option) Glnhal ITI

(B) O Power saw

TieR i
(C) O Contour saw

SR Il
(D) O Circular saw (Correct Alternative)

|t (Correct Alternative)

Question No. 22 / Question ID 138 Marks: 2.00

Which rivet is used in heavy structural work?
YR WReTHS ST | o Rde &1 SuanT fasa ST 872
(A) O Counter sunk rivet

D3R G Rde
(B) O Pan head rivet (Correct Alternative)

CL| %3 fae (Correct Alternative)
(C) O Snap head rivet (Chosen Option)

g8 Rkde (Chosen Option)

(D) O Conical head rivet
DI g8 Rde

Question No. 23 / Question ID 118 Marks: 2.00
Which type of tool is used to check the squareness of a surface?

Jdg P! TDRAT Bl S1d B P oI f5g UHR P IUHRUT BT SUANT fodT SI1dm 82




(A) O Standard wire gauge

AM® dR IS

(B) O Steel rule (Chosen Option)

TId =d (Chosen Option)

(C) O Radius gauge

(D) O Try square (Correct Alternative)

IPTAY (Correct Alternative)

Question No. 24 / Question ID 2 Marks: 2.00
What is the bin colour code for waste paper segregation?
3ARY HTTS GYahRul & forg fom (FEsa) 1 T Pis w1 82
(A) O Black

EaN]l

(B) O Blue (Correct Alternative) (Chosen Option)

e (Correct Alternative) (Chosen Option)

(C) O Green

(D) O

exl
Red
NI

Question No. 25 / Question ID 150 Marks: 2.00
What is the disadvantage of AC welding transformer?
AC e TRBIR &7 JHUH o1 82

(A) O
(B) O
(€) O

(D) O

More initial cost (Chosen Option) i T
31 YR TR (Chosen Option) Glnhal ITI
Not suitable for welding non-ferrous metal (Correct Alternative)

et uTg 1 AFRET F fore Iugad AT (Correct Alternative)

More maintenance cost
3w TEIWG ARTd
Not free from an arc blow

3Tk sa § Yo e

Question No. 26 / Question ID 264 Marks: 2.00
When is a vernier micrometer is preferred over ordinary micrometer for taking measurement?

AT T & o0 QIR AIGHIHICR B gaT | a-aR IS HIeR B &d WyfHear & St g2

(A) O
(B) O
(€) O

(D) O

Need an accuracy of 0.001 mm (Correct Alternative)

0.001 firet & IdtTar 1 smaxadmdar % (Correct Alternative)
Need an accuracy of 0.01 mm

0.01 ol &t TH HT aRTHaT §

Need an accuracy of 0.0001 mm

0.0001 ol &1 WIhaT B SHaRTHT &

Need an accuracy of 0.02 mm (Chosen Option)

0.02 firft &t TtehdT Ft ARSI § (Chosen Option)

Question No. 27 / Question ID 243 Marks: 2.00
What is the purpose of dial test indicator attached to a vernier height gauge?

IR B18e IS IS STd o SfSdher HT I T 872




(A) O To check angular measurement
HIUG AT B Sire & oy
(B) O To check the parallelism (Correct Alternative)
ARl B Sligd & ﬁT{ (Correct Alternative)
(C) O To check perpendicularity (Chosen Option)
dedl P Sfid & AT (Chosen Option)

(D) O To check thae width of slots
Ay ol AIglg Sigq & fag

Question No. 28 / Question ID 206 Marks: 2.00
Which indicates the strength of the bond in the grinding wheel?
o TR i & e Bt didbd BT ST PRl 52
(A) O Structure (Chosen Option)
TRAAT (Chosen Option)
(B) O Grain size
U BT DR
(C) O Grid
e

(D) O Grade (Correct Alternative)
IS (Correct Alternative)

Question No. 29 / Question ID 125 Marks: 2.00
What is the use of wing compass in sheet metal works?
3fte Aed Sl § 471 U &1 3TN &1 82
(A) Stepping off distances (Correct Alternative) i T
© WW HIAT (Correct Alternative) Glnhal ITI
(B) O To draw parallel line
JMIR 34T Qi
(C) O To draw perpendicular line (Chosen Option)
dSad Y@M Wi (Chosen Option)
(D) O To draw angular lines

HIviT @8 e

Question No. 30 / Question ID 293 Marks: 2.00
What safety precaution should be followed before starting the lathe machine?
Y =7 LE B Uga T JRET AIGU SR A1igy?
(A) O Never stop the rotating chuck with hand (Chosen Option)
gHd gU P &I HH 1l 814§ T b (Chosen Option)
(B) O Power feeds in neutral position (Correct Alternative)
e Treitze o faeret ot Gﬂ'qﬁ: (Correct Alternative)
(C) O Engage the brake
EEAHIEN)

(D) O Do not leave the chuck key in the chuck
Th ] Pl 9d H 7 Bls

Question No. 31 / Question ID 64 Marks: 2.00
What is the name of the metal-cutting saws shown in the figure?

fort & faRaTe 77U o1 FTen aral 3R &1 19 T 87




(A) O Circular saw (Correct Alternative) (Chosen Option)
ﬁ(Correct Alternative) (Chosen Option)
(B) O Contour saw
dR Il
(C) O Power saw
GiaR &1

(D) O Horizontal band - saw
d - 9

Global iTi

Question No. 32 / Question ID 74
What is the reading of the vernier caliper shown in the figure?

o 7 fezam U af iR SR &1 uteuis w1 87

Marks: 2.00




(A) O 351 mm
35.1 mm

(B) O 35.3mm
35.3 mm

(C) O 35.4 mm (Chosen Option)
35.4 mm (Chosen Option)

(D) O 35.2 mm (Correct Alternative)
35.2 mm (Correct Alternative)

Global iTi

Question No. 33 / Question ID 152
Which colour is painted on the acetylene gas cylinders?
TRifee™ N Ricle} IR ®F A1 37 Ue fooan Arm g2
(A) O Black
DIl
(B) O Blue
rer
(C) O Green
exl
(D) O Maroon (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 34 / Question ID 194
Which drilling defect is shown in the figure?

fort & B 1 {3 g fazaman man 82

Marks: 2.00




(A) O Unequal flow of chips
o &1 SR UaTg
(B) O Unequal point thinning
3 qa foig uden g
(C) O Drill point not in the centre (Correct Alternative) (Chosen Option)
%ﬁ 1IIV'IET:’ G-kt G % (Correct Alternative) (Chosen Option)
(D) O Unequal lip length
3T foy ot darg

Global iTi

Question No. 35/ Question ID 166
Which rod is used in stainless steel gas welding?
TN W 71 AfeET # for 1S &1 IUdIT fban S g2
(A) O Copper silver alloy
DR ReaR 7y Urg
(B) O Copper coated mild steel
DR AfUd Hges Wi
(C) O Columbium stainless steel (Correct Alternative) (Chosen Option)

PIdfegy w0 T d (Correct Alternative) (Chosen Option)

(D) © Pure aluminium

s TegHiaA

Marks: 2.00

Question No. 36 / Question ID 90
What is the reading of the outside micrometer 50mm to 75mm shown in the figure?

o A fewme e a8 A wiHieR 50 it @ 75 et ot g R 82

Marks: 2.00




Global iTi

(A) O 63.00 mm (Chosen Option)
63.00 mm (Chosen Option)

(B) O 63.13 mm
63.13 mm

(C) O 63.36 mm
63.36 mm

(D) O 63.63 mm (Correct Alternative)
63.63 mm (Correct Alternative)

Question No. 37 / Question ID 9 Marks: 2.00
What is the name of the angular measuring instrument shown in the figure?

o # fezame 7w ivfiy AU = &1 AW R |2




(A) O Universal surface gauge (Chosen Option)

qﬁaﬁa B T (Chosen Option)

(B) O Universal bevel gauge (Correct Alternative) S
‘-]ﬁ?\"'iﬁ 9d A (Correct Alternative) Glnhal ITI

(C) O Bevel protractor
qqd

(D) O Bevel g;uge
9 IS

Question No. 38 / Question ID 279 Marks: 2.00
What is the name of the portion between root and crest of the thread?
IS Pt ¢ IR B & oI & e BT 10 77 ]2
(A) O Root
Xxc
(B) O Flank (Correct Alternative)
LR ED (Correct Alternative)
(C) © Depth (Chosen Option)
Kis)) (Chosen Option)
(D) O Thread angle

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 336 Marks: 2.00
How many watts for 1 horse power in British system?
fafesr Ren , 1 81 uTaR & fpaq a1e g1d 82
(A) O 746 watts (Correct Alternative)
746 watts (Correct Alternative)




(B) O 736 watts
736 watts

(C) O 726 watts (Chosen Option)
726 watts (Chosen Option)

(D) O 756 watts
756 watts

Question No. 2 / Question ID 332
Convert 0.456 decimal fraction into percentage?
0.456 TR fHH 1 Ufd=id | dgierd?
(A) O 0.456% (Chosen Option)
0.456% (Chosen Option)

(B) O 0.0456%
0.0456%

(C) O 4.56%
4.56%

(D) O 45.6% (Correct Alternative)
45.6% (Correct Alternative)

Marks: 2.00

Question No. 3/ Question ID 334

What is called mass per unit volume of a substances?

ot uerdf & oo Ufd ST 3 P T Hed 87

(A) O Mass
SUHIT

(B) O Weight
HR

(C) O Volume (Chosen Option)
HIId (Chosen Option)

(D) O Density (Correct Alternative)
Y-dd (Correct Alternative)

Marks: 2.00

Global iTi

Question No. 4 / Question ID 337
What is the S.I unit of heat?
STAT B T, 37T, SHTS T 57
(A) O Calorie (Chosen Option)
Calorie (Chosen Option)
(B) O Joule (Correct Alternative)
Joule (Correct Alternative)

(C) O British thermal unit
British thermal unit

(D) O Centigrade heat unit
Centigrade heat unit

Marks: 2.00

Question No. 5/ Question ID 342

What is the side of a square whose area is 625mm?2?

TH T DI Yol 1 It et et 625 fofi2 g2
(A) O 15 mm (Chosen Option)
15 mm (Chosen Option)

(B) O 25 mm (Correct Alternative)
25 mm (Correct Alternative)

Marks: 2.00




() O 30 mm
30 mm

D) O 20 mm
20 mm

Question No. 6 / Question ID 331

What is the square root of 5297

529 &1 1 57

(A) O 33
33

(B)O 13
13

(C) O 23 (Correct Alternative) (Chosen Option)
23 (Correct Alternative) (Chosen Option)

(D) O 43
43

Marks: 2.00

3) ENGINEERING DRAWING

Question No. 1 / Question ID 356

What is the trimmed size of A4 sheet?

A4 fte &1 feH far gait SR F1 82

(A) O 594 x 841
594 x 841

(B) O 210 x 297 (Correct Alternative) (Chosen Option)
210 x 297 (Correct Alternative) (Chosen Option)

(C) O 841x1189
841 x 1189

(D) O 148 x210
148 x 210

Marks: 2.00

Global iTi

Question No. 2 / Question ID 368
Which arrow head is correct as per standard?

AFS & TR B A1 IR 2 Tt 82
(A) O
(Chosen Option)

(Chosen Option)

Marks: 2.00




: -

(D) O
(Correct Alternative)
(Correct Alternative)

Question No. 3/ Question ID 369 Marks: 2.00
Identify the line 'b'?
NIEGR AR RGN

- o

A) O Dimension line (Correct Alternative)
STATH @l (Correct Alternative)




(B) O Extension line
fareeiRa e
(C) O Leader line (Chosen Option)
drex drsd (Chosen Option)
(D) O Termination of dimension line

ST 3@ & GHTGT

Question No. 4 / Question ID 349 Marks: 2.00
Identify the name of instrument?

3 © fe@TE 77U IuSRON & 19 P UgaH He?

Global iTi

(A) O Protractor (Correct Alternative) (Chosen Option)
diqT (Correct Alternative) (Chosen Option)

(B) O French curve
LARIKIGED

(C) O '"T'square
&R

(D) O Setsquare

el

Question No. 5/ Question ID 365 Marks: 2.00
Which drawing dimensign is correct as per standard drawing practice?
ST 31T & AR B AT ST S el 82




Global iTi




(Chosen Option)

(Chosen Option)

(Correct Alternative)

Global iTi

(Correct Alternative)

Question No. 6 / Question ID 370 Marks: 2.00
Identify the correct aligned system dimension?

el WRad ReH 31 & Uga H?




(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

Global iTi




4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 494
The way money is saved, spent and invested

(A) O salary (Chosen Option)
(Chosen Option)
(B) O income
3
(C) O financial literacy (Correct Alternative)
o=t Tmerern (Correct Alternative)
(D) O banking
dfd

5 dE 3 U1 92T SiTdT §, T 1T SiTdT § 3R fRaw faar sar g

Marks: 2.00

Global iTi

Question No. 2 / Question ID 371
To be in a job or work is

RS THIHABTR ...

(A) O Aptitude
BRG]

(B) O Knowledge
Sﬂ:r
(C) O Skill

(D) O Employ (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 3 / Question ID 426
Which one of the following is a describing word?
e & ¥ $1H-91 T quiHeT® Ueg 572
(A) O soup (Chosen Option)
(Chosen Option)

(B) O repair

HHd
(C) O hot (Correct Alternative)

TRH (Correct Alternative)

Marks: 2.00




(D) O eat
GIEI RG]

Question No. 4 / Question ID 412 Marks: 2.00

Which one is a “Do’s” of discussion etiquettes?

T4 & RISERI § ¥ &F A “Do’s” &7

(A) O Loose your temper
3{UT 3Ta7 WY

(B) O Use impolite or rude language
3{YS T R UINT BT JTART DY

(C) O Listen to others (Correct Alternative) (Chosen Option)
§'\‘R3f @i '\Eﬁ (Correct Alternative) (Chosen Option)

(D) O Talk about irrelevant details

YIS fdaR0r & IR T &1 B
Question No. 5/ Question ID 575 Marks: 2.00
Based on the information that you get through probing, you will be in a better position to make .
SITd & SR TS S TSGR T 5, 3D YR TR 37T S Bt dgeR fRufd J g

(A) O No Progress
PUIGEE

(B) O Proper product suggestions (Correct Alternative)
3faa TG YT (Correct Alternative)
(C) O Build friendship (Chosen Option)

dHI¢ (Chosen Option)

(D) O Effective problem solving =4
THTG! AT FHTYH Glﬂllal |T|
Question No. 6 / Question ID 569 Marks: 2.00
What is the full form of GST?
GST &1 Hd BiH T g7

(A) O Great Service Tax (Chosen Option)
Great Service Tax (Chosen Option)
(B) O Goods and Service Tax (Correct Alternative)
Goods and Service Tax (Correct Alternative)
(C) O Great Sales Tax
Great Sales Tax

(D) O Good and Sales Tax
Good and Sales Tax

Question No. 7 / Question ID 469 Marks: 2.00
Which one is a “don’t” in interview etiquette?

geveg Ufedhe H “don’t’ &1 §7




(A) O Dress appropriately (Chosen Option)
3% &1 ¥ HYS U8+ (Chosen Option)
(B) O Proper eye contact

(C) O Be confident
SITHIGYTE TGl

(D) O Lie about your abilities to get job (Correct Alternative)
TH<t U & T St grarTsii & 9R | 36 99 (Correct Alternative)

Question No. 8 / Question ID 547 Marks: 2.00
A wireless technology that connects a laptop to the internet is called

T IERAH A o AUel B Sede ANSA S el B

(A) O Source Network
AId Aead

(B) ©O Desktop
SWh

(C) O WiFi (Correct Alternative) (Chosen Option)
EI'I'{»; - TFlg (Correct Alternative) (Chosen Option)
(D) O Bluetooth

[Sulek]

Question No. 9/ Question ID 420 Marks: 2.00
Which one is NOT a vowel?

P JT TR T8l 52
A)O f(C t Alternati =mm=
WO Correct Attarmative) Glohal iTi
B)O e

e

(C) O a (Chosen Option)
a (Chosen Option)

(D) O i
[
Question No. 10 / Question ID 386 Marks: 2.00
A written description of duties and responsibilities to be carried out in a job is called .
fopft Hrd § fpu ST aTal e SiR forderial &1 fafad faaron Hel a1 §

(A) O resume (Chosen Option)
resume (Chosen Option)
(B) O CV
Ccv
(C) O job description (Correct Alternative)
job description (Correct Alternative)
(D) O job application
job application

Question No. 11 / Question ID 493 Marks: 2.00
Something is made of different types of units
$O 1S AN THR & SHRAT I I §........|
(A) O society (Chosen Option)
HHIS (Chosen Option)




(B) O equality
HHECT
(C) O diversity (Correct Alternative)
fafaerar (Correct Alternative)
(D) O unity
Qohdl

Question No. 12 / Question ID 546
Which function key allows you to rename a file?

P I HaRMH Foil 3TUD! [l BId BT A dea- BI A Gl 82

(A) O F2 (Correct Alternative)
F2 (Correct Alternative)

(B) O F1
F1

(C) O F4 (Chosen Option)
F4 (Chosen Option)

(D) O F3
F3

Marks: 2.00

Question No. 13 / Question ID 583

Which of the following websites are not popular for finding jobs?

fafaRed & 9 & It daurge A GioH o o1 ATH 0 -Tg! 67

(A) O Naukri.com
Naukri.com

(B) O Sheroes.com
Sheroes.com

(C) O LinkedIn.com (Chosen Option)
LinkedIn.com (Chosen Option)

(D) O Twitter.com (Correct Alternative)
Twitter.com (Correct Alternative)

Marks: 2.00

Global iTi

Question No. 14 / Question ID 473
Which one is considered to be a good communication?
DI I IS ST TAR AT ST 872
(A) O Sender attacks receiver
U5 D1 REaR TR gHa1 oAl

(B) O Sender is positive towards receiver (Correct Alternative)

frediar & ufa due IeRITES % (Correct Alternative)

(C) O Message is ambiguous (Chosen Option)
HeW 3RV § (Chosen Option)
(D) O Receiver doesn't listen to sender

Tl US® &1 Tal AT

Marks: 2.00

Question No. 15/ Question ID 411
Which is a silent letter in the word “ANSWER”?
“ANSWER” Tsc H P19 91 7 31&R 872
(A) O W (Correct Alternative)
W (Correct Alternative)

(B)YO S
S

Marks: 2.00




(C) O E (Chosen Option)
E (Chosen Option)

OO R
R

Question No. 16 / Question ID 521
What does ‘ASAP’ stand for, in SMS language?
THUHTYH HTHT & "ASAP" &1 T 3 § 2
(A) O As Simple As Possible
As Simple As Possible
(B) O As Soon As Possible (Correct Alternative)
As Soon As Possible (Correct Alternative)
(C) O As Silent As Probable (Chosen Option)
As Silent As Probable (Chosen Option)

(D) O As Soon As Probable
As Soon As Probable

Marks: 2.00

Question No. 17 / Question ID 463

Motivation is categories into

ifedwd &l aiffpd fbar mang

(A) O high and low (Chosen Option)
"6T§ R (Chosen Option)

(B) O good and bad
3T 3R R

(C) O intrinsic and extrinsic (Correct Alternative)
3iaf¥e 3R arer (Correct Alternative)

(D) O inner and outer

TR 3R 33X

Marks: 2.00

Global iTi

Question No. 18 / Question ID 508
For short distance, which network type should be used?

Bt gl & g, {9 Aeas UeR &1 IUAIT fasar ST arfge?
(A) O MAN (Chosen Option)
MAN (Chosen Option)
(B) O WAN
WAN
(C) O LAN (Correct Alternative)
LAN (Correct Alternative)
(D) O CAN
CAN

Marks: 2.00

Question No. 19 / Question ID 488
How do successful people handle failure?
AHd AR B B Y GHTA 872
(A) O They give up their ambitions

3T AgaTH1eaf &t N & § |
(B) O They learn from their mistakes (Correct Alternative)
g 3T TAfaal | JRad %I (Correct Alternative)

©)O They blame others (Chosen Option)

DI GI¥ &d %I (Chosen Option)

Marks: 2.00




(D) O They get demotivated

3 feHifede g1 oa 8

Question No. 20 / Question ID 376 Marks: 2.00
Values are

(A) O not punctual
BERIERE
(B) O Motivates our attitude and action (Correct Alternative)

E'Flﬁ' EHEEaW 3R mﬁ &1 U Har % (Correct Alternative)

(C) O all have same value (Chosen Option)
gt &1 Yo YA § (Chosen Option)
(D) O very costly
§gd BIHdl

Question No. 21 / Question ID 522 Marks: 2.00
What is a shortcut key for “Copy” command’?
"B HHIS & Y Aicdhe B (Hoit) FT |2
(A) O Ctrl+A
Ctrl + A

(B) O Ctrl + C (Correct Alternative)
Ctrl + C (Correct Alternative)
(C) O Ctrl + X (Chosen Option)
Ctrl + X (Chosen Option)

(D) O Ctrl +V .
Ctrl +V Global iTi
Question No. 22 / Question ID 557 Marks: 2.00

Money invested in purchasing of raw materials, payment of wages and salaries, rental, electricity etc
comes under

Fad A P TRIG, Holge! 3R da, faxmd, faerett enfe & yiram § fa=r fsan man o s ]
(A) O long term capital

FPEAINGR Sl
(B) O capital income

ST 3
(C) O working capital (Correct Alternative) (Chosen Option)

q‘y»ﬁ (Correct Alternative) (Chosen Option)

(D) O fixed capital

Sfaret it

Question No. 23 / Question ID 384 Marks: 2.00
Time management

(A) O problem solving
O ] A
(B) O complete your task on time (Correct Alternative) (Chosen Option)
AT T THT R T Gy (Correct Alternative) (Chosen Option)
(C) O managing time
Uy IHY




(D) O hard skill

Question No. 24 / Question ID 519 Marks: 2.00
The expansion of ROM is
"ROM" &1 faR § -

(A) O Read Only Memory (Correct Alternative)
Read Only Memory (Correct Alternative)

(B) O Read Octet Machine
Read Octet Machine

(C) © Rewrite Octet Machine (Chosen Option)
Rewrite Octet Machine (Chosen Option)

(D) © Random Only Memory
Random Only Memory

Question No. 25 / Question ID 439 Marks: 2.00

Which of these is a sign of good stress?

3% TG BT Hobd T8 I DI 11 62

(A) O It prevents you from pursuing your goals.
g HTTDH] 3O AL BT UIST B 4 bl 5|

(B) O It makes you doubt yourself.
g 3MTI! Gg TR IH TRl 7|

(C) O Does not lead to long-term tension, loss of sleep. (Correct Alternative) (Chosen Option)
W YUY 9 9919, ig 1 HH 781 81t 81 (Correct Alternative) (Chosen Option)

(D) O Makes you physically ill or causes pain.

YNNG T T SHR S1d1 & TT &8 BT HROT ST 21 Glohal iTi




